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Methylen= 28 . Mair=29)
CH4 +30, —» 2CO, + 2H,0
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Composition W=?
80% H,0
F= 10000kg/hr
I Evaporator N
Composition
l 1 80% H,0
0,
Composition 20%KNO;3
50% H,0 M=?
50%KNO; Crystallizer Composition
—> R=?
H,O
l Composition KNO,
4% H,0 C=?
96%KNO;
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AH,, at 25°C= 28299 |

CO(g) +1/2 O,(g) — > CO;(g)

Components AH (j/gmol) moles AH (j)
CO(g) 2167 ? ?
Air 2196 ? ?
CO 1OOOF | AHPYOdUCtS = ?
Reactor —
Air 100°F —>
0,:0.21
Nz: 0.79
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Component Temp Conc AR
(°F) percent (Btu/Ib)
NaOH 68 100 455
80 10 42
350 73 468
H,O 32 100 0
80 100 48
Ice 32 100 -143
H,0
73% | 10%
NaOH NaOH
Ice
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